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MOk y) N
| > with(DEtools) :
> Ecuacion (xy(x)-2—ypx)-2+x—1) + (x--2.p(x) =2-xp(x) +x-2 +2-p(x) —2-x
) -diff (y(x), x) =
Ecuaczon .—xy( )2 —y()c)2 +x—1+ (xzy(x) —2xy(x) +x + 2y(x) —2x €))
) FECIRL
> odeadvisor(Ecuacion)
i [ separable] 2)
> M= (xy-2—y-2+x—1)
i M:=xy2—y2+x—1 A3)
> Ni=(x-2y—2xy+x-2+2y—2-x+2)
i N:szy—ny+x2+2y—2x+2 “)
> factor(M)
i (P +1) (= 1) ®)
> factor(N)
i (¥ —2x+2) (1+y) (6)
> Pi=(x—1;0=y+LR=x—2x+2;5= (1 +y);
P=x—1
0=y +1
R=x"—2x+2
i S=1+y @)
> SolGeneral = int(%,x} + int(g,y) =C,
1 2 1 2
SolGeneral .= 5 ln(x —2x+ 2) + 5 ln(y + 1) +arctan(y) =C, ¢))
_> parametro = subs(x =0,y =15, SolGeneral)
parametro := % In(2) + % In(26) +arctan(5) = C, )
=> SolParticular = subs(C1 = lhs ( parametro), SolGeneml) cevalf (%, 2)
i 0.50 In(x* —2.x4+2.) +0.50 In(3> + 1.) + arctan(y) =3.3 (10)
| > with(plots) :
> implicitplot(SolParticular, x =-50..50, y =-100..20)
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